Gabarito teste 10 - 2° semestre de 2023

Versdo 1

Py =NA=10"cm™

n,, = ni’/ NA=10*cm™

P, =ni’/ND=10°cm™

n,=ND=10"cm™

V, =V, .In(NA.ND/ni?) =V, .In(10* /10*) = V,.In((10""*) = V,.13.2,3 = 747,5mV

2.6 1 1 2.107"2
W = S| — — |V, = |[———.107"°.0,7475=0,320
\/ (NA ND) 0 \/ 9 H

q 1,6.10°

NA
xn=——-./ (W —-xn)=0,029
D ( ) pm

xp=W —xn=0,290 um

Versdo 2
Py =NA= 10" cem™
n, = ni’/ NA=10’cm™
P, =ni-/ND=10"cm™
n,=ND=10"cm™
V, =V, .In(NA.ND/ni®) =V, .In(10* /10*) = V,.In((10")"*) = V,.13.2,3 = 747,5mV
2. 107"
W= |25 .(L.LJ.VO = 210 1074.0,7475 = 0,320 m
g \NA ND 1,6.10

NA

xn=——

ND
xp=W —xn=0,029 um

W —xn)=0,290 m



